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QUESTION 1

When a user clicks Save within Commerce of CPQ, the user gets the following error: "insufficient access on cross
reference id." Why?

A. The user does not have CPQ access.

B. The user does not have the ability to see and edit any object in Salesforce that the user is trying to edit.
C. Upon installing Salesforce Managed Package, the flag "Allow Quote Creation" is not checked.

D. The user does not exist in Salesforce Managed Package.

Correct Answer: B

QUESTION 2

You are asked to design a Document Designer template, which should generate an output document where users would
be able to navigate to a specific section from the table of contents. This is a complex document with many sections and

subsections that can go up to seven levels of parent/child relationships.

Which three steps do you need to perform to ensure that the table of contents show only two levels of the sections and
subsections so that the user reviewing the document can navigate to a desired section\\'s page and scroll further to the

deeper levels? (Choose three.)

A. Enable the Table of Contents option for selected heading styles.

B. Enable the Table of Contents option for all heading styles.

C. Assign a heading style set to the Table of Contents layout.

D. Create headings by using the Heading element for the section content in your template.
E. Assign page numbers to all heading elements.

Correct Answer: BDE

QUESTION 3

In which two locations are the keywords for mobile processing of quotes defined when setting up approvals? (Choose
two.)

A. Submit sub-action ?Submit for Approval
B. Submit sub-action ?Approve
C. Submit sub-action ?Reject

D. Mobile Approval Email Notification
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Correct Answer: BC

QUESTION 4

The Related Parts data table exists in the QA environment and in the production environment. The table has 3,000
records in the QA environment and 4,000 records in the production environment. How many records will be present in
the data table in the production environment if this table is migrated from the QA environment?

A. 7,000

B. 3,000

C. 4,000

D. 1,000

Correct Answer: C

QUESTION 5

Given the following function:
replace (str, old, new, [n])

What does [n] specify?

A. the number of occurrences of the old that will be skipped from the beginning
B. the number of occurrences of the old that will be replaced from the beginning
C. an array of the new values

D. an array of the old values

Correct Answer: C

QUESTION 6

What is the best method for restricting users from removing line items that are added to the configuration through a
Recommended Item rule?

A. Write a Constraint rule to throw a runtime error on the Delete Action event.

B. Add an Advanced Validation rule on Delete Main Doc Action.

C. Ensure that all the parts are coming from a "mandatory” Recommended item rule.
D. Use CSS to hide the check box on Line Grid.

Correct Answer: A
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QUESTION 7

Which two items are necessary to migrate between environments? (Choose two.)

A. Environments must have similar urls (for example, testcustomer and devcustomer).
B. Environments must be on the same major release (for example, 2016R2).

C. Environments must be on the same minor release (for example, 2016R2 update 2).
D. Administrators must have FullAccess logins for both environments.

E. Entities to be migrated must be deployed within 24 hours of the migration.

Correct Answer: CD

QUESTION 8

Identify two ways in which you can display a message to a user while using simple table-based lookups for an attribute.
(Choose two.)

A. defining an advanced BML (CPQ Cloud Language) function for that attribute

B. setting the message type as Static Entry when selecting an attribute to populate
C. setting the message type as Table Column when selecting an attribute to populate
D. defining a static text message for that attribute

Correct Answer: BD

QUESTION 9
Identify two standard ways to modify the overall integration behavior of CPQ Cloud and Salesforce. (Choose two.)

A. Use the Site Setup object and CPQ Cloud Commerce Package settings in Salesforce to meet varying customer
requirements.

B. Write a Salesforce API to change integration behavior in CPQ Cloud.
C. Use the integration XSLs within the Commerce process to modify integration behavior at the object and field levels.
D. Write a custom BML Util library function in CPQ Cloud.

Correct Answer: AC

QUESTION 10
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When implementing Subscription Ordering according the Subscription Ordering Implementation Guide, you are asked to
modify the formula for the Price (List) line level attribute. What must you do to properly modify the formula?

A. Add an initial condition that tests for a valid entry in a specific Subscription Ordering price book with a true value of
zero.

B. Add an initial condition that tests for the Action Code to be either DELETE or TERMINATE with a true value of zero.

C. Add an initial condition that tests for the Action Code to be either DELETE or TERMINATE with a true value of Part
Base Price.

D. Add an initial condition that tests for a valid price value in the Price field of the BOM Item Definition table with a true
value of the valid price value.

E. Add an initial condition that tests for a valid price value in the Price field of the BOM Item Mapping table with a true
value of the valid price value.

Correct Answer: C

QUESTION 11

When using Web Services 1.0, consider the following sequence of a client system calling CPQ Cloud WebServices.
1.

Call Security Login WebServices with User ID and Password.

2.

Create a Commerce update Transaction WebServices call by using an existing transaction ID.
3.

Make the following updates in the web service XML:

Set Session ID.

Set"_shipTo_first_name" to "myName"

4,

Submit the WebService call.

5.

Call Security Logout WebServices with the Session ID to close the session.

Based on the given sequence, which two statements are true? (Choose two.)

A. Step 5 is unnecessary. Session ID is not needed to log out.

B. The call in step 4 will throw an error.

C. Step 3 does not specify an action to execute; therefore, nothing is updated in the transaction.
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D. The session will still be open.
E. The Commerce transaction should be updated with the new Ship To name.

Correct Answer: AE

QUESTION 12

Given the following code:

¥miPayioad = “<2¥ml versicn= “1.0" encoding="UTF-E"z><library><bock lang= “en”>5pring in
Aoction</boolks<boclk lang= “fr">JZEE Blueprint</book:=</library>";
xpaths = string [1];

¥xpatha [0] = “/library/book/Blang”;
gutput = rwadzmlmpltiples (xmlPayload, xpaths);

for xpath in xpaths |
print {™ (key) =
valuss string [1

( ™+ xpath +%) "}z
1):
values = get (output, Xpath}):

for value in valuss|
print ™ (value} = (™ + wvalus + ") "}:

}

J

recurn H

What will be returned?

A. (key) = (/library/book/@lang)(value) = (en)(value) = (fr)

B. (key) = (/lang/book/library)(value) = (en)(value) = (fr)

C. (key) = (/library/book/@lang)(value) = (English)(value) = (French)

D. (key) = (/library/book/@Ilang)(value) = (Spring in Action)(value) = (J2EE Blueprint)

Correct Answer: B

QUESTION 13

What standard functionality would you use to align attribute labels on a configuration screen so that they are evenly
distributed vertically?

A. Add spacers in the Configuration Layout and define spacer height.
B. Add read-only text area attributes in the layout with the required dimensions.
C. Use CSS.

D. Add HTML attributes and use .
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Correct Answer: D

QUESTION 14
Which are three testing strategies for Oracle CPQ Cloud? (Choose three.)
A. Test cases should be directly linked to business requirements.

B. Avoid using a test case tracking tool because it is time consuming to track all of the testing team\\'s
efforts.

C. Perform isolated tests as well as intra-system and cross-system integration tests.

D. Create specific test data for accounts, opportunities, and contracts in the CRM system and use that
data to perform end-to-end tests for CPQ Cloud quotes.

Correct Answer: BCD

QUESTION 15

Identify three types of data written to different log files that you can find in the Error Logs menu. (Choose
three.)

A. email sending and receiving
B. performance information

C. server messages

D. modsecurity messages

E. administration changes

F. output of print servers

Correct Answer: CDE
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